


No. Part number Name Number Remark

1 8022876A M5*8 Stainless steel screw 4

2 8013801A M6*8 set bolt（black） 1

3 8001684A M4*16 Stainless steel screw 1

4 8021175A M5*6 Stainless steel screw 1

5 8017785B ceiling light 1

6 8022522A copper sleeve 1

7 8017785B HK3520needle bearing 1

8 8022522A M6*8 set bolt（black） 1

9 8017779C light arm connecting shaft 1

10 8022528A DL-2 Rotation limit 1

11 8022876A M5x8 Stainless steel screw 4

12 8017791B adjustable light arm II-balance arm（1.72Kg） 1

13 8023527A DL-2 ceiling light rotation arm 1

14 8011491A glass cuspidor silicone decoration cover 2

15 8001738A M6*16 Stainless steel screw 2

16 8001564A φ6 spring pad 2

17 8023530A ceiling light balance arm fixed seat 1

18 8023533A ceiling light balance arm fixed seat seal board 1

19 8020617A Amber LED dental light（ADS） 1

20 8014164A M6*5 alloy steel set screw 1


	02KD02-00A-DL-2吊灯(Amber) Model (1)
	02KD02-00A-DL-2吊灯(Amber) Model (1)

